
1 

INFORMATION HANDOUT 
For Contract No. 05-1A7604 

At 05-Mon-1-R77.6/R85.3 
 

Identified by 

Project ID 0512000019 
 

MATERIALS INFORMATION 
Water Source Information 

Manufacturer Drawings for Alternative In-Line Terminal Systems 

Manufacturer Drawings for Alternative Flared Terminal Systems 

Manufacturer Drawings for Alternative Crash Cushion Systems 

 









� � � � � � � � � � � � 	 
 � � � � � 
 � � 
 
 � � � 
 � � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  � ! " # # $ % & & ' " % ( � � ) � ) � � ) * � � � � �+ ,

A
LI

AT
E
D

0
2

)
8:

1
EL

A
C
S(

A

1
LE

N
A
P

2
LE

N
A
P

3
LE

N
A
P

5
6

4

9
1

1

3

3

4

5

6

9

4
1

6
1

4
1

X
4

3
1

6
1

X
4

6
1

3
1

X
4

6
1

3
1

5
1

6
1

X
3

8
1

5
1

STL
O
B

R
A
E
HS

)
0
1

M
ETI(

5
1

6
1

LL
AT

S
NI

OT
)
5
1

M
ETI(

TL
O
B

E
S
U

,)
7

M
ETI(

K
C
A
B
,L

E
N
A
P

R
E
DIL

S
D
E
P

MI
R

C
OT

)
2
1

M
ETI(

T
U

O
K

C
OL

B
S
S
A
P
T

O
N

O
D
,)

1
M
ETI(

T
S

O
P

M
A
E
B-

W
HT

O
B

H
G
U

O
R
HT

TL
O
B

.
SL

E
N
A
P
LI

A
R
D
R
A
U

G

8

)
0
1

M
ETI(

STL
O
B

R
A
E
H
S

6
1

6
1

5
1

5
1

2
2

4 2

7

8
1
1

2
1

2
1

2
1

X
4

LL
AT

S
NI

OT
)
5
1

M
ETI(

TL
O
B

E
S
U

E
NIL

OT
)
2
1

M
ETI(

T
U

O
K

C
OL

B
S
S
A
P
T

O
N

O
D
,)

3
M
ETI(

T
S

O
P

M
A
E
B-

W
H

G
U

O
R
HT

TL
O
B

.
SL

E
N
A
P
LI

A
R
D
R
A
U

G

1
2

6
1

3
1

6
1

7
1

3

Y
N

A
P

M
O

C
S

N
O
I

T
U
L

O
S

N
O
I
T

A
T

R
O

P
S

N
A

R
T

Y
A
S

D
N
I
L

A

B
B

:
Y
B

D'
R
P
P
A

:
Y
B

N
W
A
R
D

:
ET

A
D

D'
R
P
P
A

:
ET

A
D

N
W
A
R
D

EL
A

CS

EZIS
.

O
N

G
W
D

ELTIT

T
E
E
H
S

.
V
E
R

0
0
8

et
S

y
a

w
kr

a
P

y
ell

a
V

a
c
a
V

3
3
3
3

8
8
6
5
9

A
C
,
elli

v
a
c
a
V

1
9
6
3-

0
0
8-

8
8
8
:l

eT
m
o
c.

c
nis

m
ets

ysr
eirr

a
b.

w
w

w

.
6

.
5

.
4

ABCD

ABCD

1
2

3
4

1
2

3
4

8
0
1
0
0
1
B
.
c
o
D

LI
A
R
D
R
A
U

G
M
A
E
B-

W
T
S
RIF

OT
)
5

M
ETI(

T
N

O
RF

,L
E
N
A
P

R
E
DIL

S
LL

AT
S
NI

.
1

.
E
DI
S

CIFF
A
RT

N
O

E
B

OT
ST

U
N

X
E
H
.
6
1

&
3
1

S
M
ETI

G
NIS

U
L
E
N
A
P

LI
A
R
D
R
A
U

G
M
A
E
B-

W
D
N

O
C
E
S

OT
)
6

M
ETI(

T
E
K

C
A
R
B

R
E
DIL

S
LL

AT
S
NI

.
2

.
6
1

&
3
1
S

M
ETI

G
NI
S
U
L
E
N
A
P

LI
A
R
D
R
A
U

G
M
A
E
B-

W
D
N

O
C
E
S

D
N
A
T
S
RIF

E
R
U

C
ES

2
&

1
S
P
ET

S
R
ETF

A
.
3

.
E
DI
S

CIFF
A
RT

N
O

E
B

OT
ST

U
N

X
E
H
.
6
1

&
3
1
,
7

S
M
ETI

G
NI
S
U

L
E
N
A
P

.L
E
N
A
P
LI

A
R
D
R
A
U

G
E

C
AF

OT
2

D
N
A

1
ST

S
O
P

N
O
T

OL
S

S
G

M
OT

N
OITI

S
N
A
RT

S
L
A
V

O
R
P
P
A

,
YL

B
M
E
S
S
A

M
ET

S
Y
S

ETIL-
X

,T
N
E

G
N
AT

S
G

M-S
USTL

X
G
NI

W
A
R
D

E
L
A

C
S
T

O
N

O
D

N
OIT

C
E
J

O
R
P

E
L

G
N
A

D
RI

HT

3
1/

9
0/

0
1

1
5
1
2

0

3
1/

3
1/

1
1

5
6
1
2

A

4
1/

3
2/

1
0

0
2
2
2

B

V
E
R

#
N

C
E

ET
A
D

3
1/

9
0/

0
1

3
1
0
2/

9
0/

0
1

D
A

G

T
MJ

©

2
F

O
1

.
C
NI

S
M
ET

S
Y
S

R
EI

R
R
A
B

0
1
0
2

SI
HT

NI
D
E
NI

AT
N

O
C

N
OIT

A
M
R

OF
NI

E
HT

F
O

YT
R
E
P

O
R
P

EL
O
S

E
HT

SI
G
NI

W
A
R
D

N
OIT

C
U
D

O
R
P
E
R

Y
N
A
.

C
NI

S
M
ET

S
Y
S

R
EI

R
R
A
B

N
ETTI

R
W

E
HT

T
U

O
HTI

W
EL

O
H

W
R

O
T
R
A
P

NI
SI

.
C
NI

S
M
ET

S
Y
S

R
EI

R
R
A
B
F

O
N

OI
S
SI

M
R
E
P

.
D
ETI

BI
H

O
R
P

D
EIFI

C
E
P
S

E
SI

W
R
E
HT

O
S
S
EL

N
U

.
S
E
H

C
NI

NI
E
R
A

S
N

OI
S
N
E

MI
D

:
E
R
A

S
E

C
N
A
R
EL

OT

S
N

OIT
C
A
RF

6
1/

1
L
A

MI
C
E
D

=
X
X.

3
0.

=
X
X
X.

0
1
0.

S
EL

G
N
A

2/
1 D

N
A

S
N

OI
S
N
E

MI
D
T
E
R
P
R
ET

NI
E

M
S
A

R
E
P

S
E

C
N
A
R
EL

OT
4
9
9
1-

5.
4
1
Y

0
4:

1

ET
AL

P
LI

O
S

D
N
A
T
S

O
P

E
HT

,
D
E
R
ET

N
U

O
C
N
E

SI
LI

O
S
FFIT

S
R

O
K

C
O
R
FI

.
EL

O
H

E
HT

G
NILLIF

K
C
A
B

D
N
A

G
NI

R
E

G
U
A

Y
B

D
ELL

AT
S
NI

E
B

Y
A

M
L
A
R
ET

AL
R

O
T
N
E

M
ELTT

E
S
T
N
E
V
E
R
P

OT
N
E
K
AT

E
B
T
S
U

M
E
R
A

C
A
RT

X
E

E
B
LL

A
H
S
L
AI

R
ET

A
M
LLIF

K
C
A
B

.T
S

O
P

E
HT

F
O
T
N
E

M
E

C
AL

P
SI

D
.
N

OIT
C
A
P

M
O

C
M
U

MIT
P

O
OT

D
ET

C
A
P

M
O

C

FI
D
EIFI

D
O

M
E
B

Y
A

M
ET

AL
P
LI

O
S

E
HT

,
D
E
R
ET

N
U

O
C
N
E

SI
K

C
O
R
FI

.
R
E
E
NI

G
N
E
T

C
EJ

O
R
P

E
HT

Y
B

D
E
V

O
R
P
P
A

Appendix A - System Configuration, 37’ 6” MGS

- . / 0 1 2 2 1 0 - 3 . 4 1 . 5 1 2



� � � � � � � � � � � � 	 
 � � � � � 
 � � 
 
 � � � 
 � � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  � ! " # # $ % & & ' " % ( � � ) � ) � � ) * � � � � � + 6

1
4

"
8/

5
1

4
9
1

"
8/

5
7

1
T
S

O
P

2
TS

O
P

3
TS

O
P

.
E
NIL

NI
E
R
A

6
D
N
A

5
,
4
ST

S
O
P

.
N

W
O
H
S

N
OI
S
N
E

MI
D

R
E
P

4
T
S

O
P

M
O
RF

3
T
S

O
P
T
E
SFF

O
.
N

W
O
H
S

N
OI
S
N
E

MI
D

R
E
P

4
T
S

O
P

M
O
RF

1
D
N
A

2
ST

S
O
P
T
E
SFF

O
.
ST

S
O
P

E
HT

F
O

E
G
N
ALF

E
DI
ST

U
O

E
HT

OT
E
R
A
S
N

OI
S
N
E

MI
D
LL

A

B
LI

AT
E
D

)
0
2:

1
EL

A
C
S(

M
A
E
RT

S
P
U

E
S
U

E
R
U

C
E
S

OT
EL

O
H

OT
T
U

O
K

C
OL

B
.
6
,
5
,
4
T
S

O
P

D
LI

AT
E
D

M
A
E
RT

S
N

W
O
D

E
S
U

E
R
U

C
E
S

OT
T

OL
S

.T
S

O
P

OT
LI

A
R

)
0
2:

1
EL

A
C
S(

C
LI

AT
E
D

M
A
E
RT

S
P
U

E
S
U

E
R
U

C
E
S

OT
EL

O
H

OT
T
U

O
K

C
OL

B
.T

S
O
P )

0
2:

1
EL

A
C
S(

5
0
8

"
4/

3
1
3

1
5
5

"
4/

3
1
2

C
D

B

1

1
TS

O
P

2
TS

O
P

3
TS

O
P

4
TS

O
P

5
T
S

O
P

6
TS

O
P

7
TS

O
P

T
U

O
K

C
OL

B
D
N
A
T
S

O
P

OT
D
ET

C
E
N
N

O
C
T

O
N

L
E
N
A
P
LI

A
R
D
R
A
U

G
M
A
E
B-

W

T
U

O
K

C
OL

B
,T

S
O
P

N
OITI

S
N
A
RT

T
R

O
H
S

D
N
A

1
2

M
ETI

NI
D
E
D
UL

C
NI

L
E
N
A
P

T
U

O
K

C
OL

B
D
N
A
T
S

O
P

OT
D
ET

C
E
N
N

O
C
T

O
N

L
E
N
A
P
LI

A
R
D
R
A
U

G
M
A
E
B-

W

7
8
7
"
1
3

2
5
9

"
2/

1
7
3

5
0
9
1
"
5
7

5
0
9
1
"
5
7

5
0
9
1
"
5
7

5
0
9
1
"
5
7

5
0
9
1
"
5
7

5
0
9
1
"
5
7

2
0
8
2
1

"
0-'

2
4

6
3
9

"
8/

7
6
3

LI
A
R
S

G
M

NI
G
E
B

T
U

O
K

C
OL

B
O
N

2
D
N
A

1
TS

O
P

)
0
1

M
ETI(

TI
K
TL

O
B

R
A
E
H
S

E
S
U

S
G

M
OT

G
NILL

AT
S
NI

N
E
H

W
TI

K
N

OITI
S
N
A
RT

D
N
U

O
R

G
E
NIL

B
B

EL
A

CS

EZIS
.

O
N

G
W
D

T
E
E
H
S

.
V
E
R

.
1

ABCD

ABCD

1
2

3
4

1
2

3
4

8
0
1
0
0
1
B
.
c
o
D

S
G

M-S
USTL

X
2

F
O

2
0
5:

1

HT
O
B

H
G
U

O
R
HT

D
ETL

O
B

SI
TL

O
B
LI

A
R
D
R
A
U

G
E
R
U
S
N
E

.
7
T
S

O
P
T
A
T
S

O
P

D
N
A
T
U

O
K

C
OL

B
,
SL

E
N
A
P
LI

A
R
D
R
A
U

G

Appendix A - System Configuration, 37’ 6” MGS

7 8 2 - 0 9 : 0 1 . ; 9 . 0 9 . < 0 9 = 4 - . 1 2



� � � � � � � � � � � � 	 
 � � � � � 
 � � 
 
 � � � 
 � � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  � ! " # # $ % & & ' " % ( � � ) � ) � � ) * � � � � �> ?

Appendix A -Bill of Materials - X-Lite Tangent, MGS 37’ 6”

Item Description Full System Kit Only

BSI-1310024-00 XLITE,CRIMPED POST SLOTS,GALV 1.00 1.00

BSI-1310027-00 XLITE,CRIMPED POST HOLES,GALV 1.00 1.00

BSI-1012086-00 POST II, X-LITE, GALV 1.00 1.00

BSI-1012078-00 LINE POST,X-LITE,GALV 3.00 -

BSI-1012103-00 IMPACT HEAD,X-LITE, GALV 1.00 1.00

BSI-1012093-00 SLIDER PANEL,FRONT,XLITE,GALV 1.00 1.00

BSI-1012090-00 Slider Bracket, X-Lite 1.00 1.00

BSI-1012096-00 BACK SLIDER PANEL,X-LITE,GALV 1.00 1.00

BSI-1012097-00 Ground Strut, X-Lite 2.00 2.00

BSI-1012098-00 Ground Strut Angle 1.00 1.00

BSI-1012104-00 Cable Anchor Assembly, X-Lite 1.00 1.00

K080123 Kit, X-Tension Shear Bolt, 2.00 2.00

BSI-1102027-00 WASHER,SQUARE,X-LITE,GALV 1.00 1.00

B090534 W-Beam Composite Blockout 8in, 4.00 -

4001115 Guardrail Bolt 5/8-11x 1 1/4 16.00 -

2000464 Bolt CH 5/8-11x1 1/2 Gr5 MGal 2.00 -

2000465 Bolt CH 5/8-11x9 Gr5 MGal 4.00 -

4001116 Guardrail Nut Recessed 5/8-11 26.00 -

2001580 Wshr 1" F436 Structural 1.00 -

4000443 W-Beam Guardrail RWM02a 3.00 -

BSI-1312100-00 Soil Plate 1.00 1.00

2000220 C-Scr HH 5/8-11x3 1/2 Gr5 MGal 2.00 2.00

2001636 Wshr 5/8 F436 Struct MGal     4.00 4.00

2000312 Nut HX 5/8-11 Gr5 Mgal 2.00 1.00

BSI-1303005-00 Bracket, X-Lite, Cable Retenti 1.00 1.00

BSI-1310016-KT Transition Kit, MGS, X-Lite 1.00 1.00

- . / 0 1 2 2 1 0 - 3 . 4 1 . 5 1 2









� � � � � � � � � � � � 	 
 � � � � � 
 � � 
 
 � � � 
 � � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  � ! " # # $ % & & ' " % ( � � ) � ) � � ) * � � � � �+ +

D
LI

AT
E
D

8
:

1
EL

A
CS

9
1

D

3
LE

N
A
P

2
LE

N
A
P

1
LE

N
A
P

4

.
6

.
5

.
4

8
1

1

1

3

4
5

0
1

1
1

3
1

4
1

5
1

X
4

2
1

5
1

X
4

2
1

5
1

X
4

2
1

5
1

1
1

1

4
1

5
1

X
3

7
1

7

5
1

5
1

4
1

LL
AT

S
NI

OT
)
4
1

M
ETI(

TL
O
B

E
S
U

D
E
P

MI
R

C
OT

)
1
1

M
ETI(

T
U

O
K

C
OL

B
S
S
A
P
T

O
N

O
D
,)

1
M
ETI(

T
S

O
P

M
A
E
B-

W
H

G
U

O
R
HT

TL
O
B

.
SL

E
N
A
P
LI

A
R
D
R
A
U

G

LL
AT

S
NI

OT
)
4
1

M
ETI(

TL
O
B

E
S
U

,)
6

M
ETI(

K
C
A
B
,L

E
N
A
P

R
E
DIL

S
D
E
P

MI
R

C
OT

)
1
1

M
ETI(

T
U

O
K

C
OL

B
S
S
A
P
T

O
N

O
D
,)

1
M
ETI(

T
S

O
P

M
A
E
B-

W
HT

O
B

H
G
U

O
R
HT

TL
O
B

.
SL

E
N
A
P
LI

A
R
D
R
A
U

G

7

)
9

M
ETI(

STL
O
B

R
A
E
H
S

5
1

4
1

4
1

5
1

1

1
2

4

2
8 6

5

1
1

1
1

1
1

6 X
4

2
1

5
16
1

Y
N

A
P

M
O

C
S

N
O
I

T
U
L

O
S

N
O
I
T

A
T

R
O

P
S

N
A

R
T

Y
A
S

D
N
I
L

A

B
G

:
Y
B

D'
R
P
P
A

:
Y
B

N
W
A
R
D

:
ET

A
D

D'
R
P
P
A

:
ET

A
D

N
W
A
R
D

EL
A

CS

EZIS
.

O
N

G
W
D

ELTIT

T
E
E
H
S

.
V
E
R

0
0
8

et
S

y
a

w
kr

a
P

y
ell

a
V

a
c
a
V

3
3
3
3

8
8
6
5
9

A
C
,
elli

v
a
c
a
V

1
9
6
3-

0
0
8-

8
8
8
:l

eT
m
o
c.

c
nis

m
ets

ysr
eirr

a
b.

w
w

w

S
L
A
V

O
R
P
P
A

Y
L
B

M
E
S
S
A

M
E
T
S
Y
S

E
TI
L
-
X

D
E
R
A
L
F

S
USFL

X
G
NI

W
A
R
D

E
L
A

C
S
T

O
N

O
D

N
OI
T

C
E
J

O
R
P

E
L

G
N
A

D
RI

H
T

3
1/

9
1/

3
0

8
2
0
2

D

3
1/

8
2/

0
1

2
6
1
2

E

3
1/

2
1/

1
1

5
6
1
2

F

4
1/

3
2/

1
0

0
2
2
2

G

V
E
R

#
N

C
E

ET
A
D

3
1
0
2/

9
1/

3
0

3
1
0
2/

9
1/

3
0

T
MJ

M
E
A

©

2
F

O
1

.
C
NI

S
M
ET

S
Y
S

R
EI

R
R
A
B

0
1
0
2

SI
HT

NI
D
E
NI

AT
N

O
C

N
OIT

A
M
R

OF
NI

E
HT

F
O

YT
R
E
P

O
R
P

EL
O
S

E
HT

SI
G
NI

W
A
R
D

N
OIT

C
U
D

O
R
P
E
R

Y
N
A
.

C
NI

S
M
ET

S
Y
S

R
EI

R
R
A
B

N
ETTI

R
W

E
HT

T
U

O
HTI

W
EL

O
H

W
R

O
T
R
A
P

NI
SI

.
C
NI

S
M
ET

S
Y
S

R
EI

R
R
A
B
F

O
N

OI
S
SI

M
R
E
P

.
D
ETI

BI
H

O
R
P

D
EIFI

C
E
P
S

E
SI

W
R
E
HT

O
S
S
EL

N
U

.
S
E
H

C
NI

NI
E
R
A

S
N

OI
S
N
E

MI
D

:
E
R
A

S
E

C
N
A
R
EL

OT

S
N

OIT
C
A
RF

6
1/

1
L
A

MI
C
E
D

=
X
X.

3
0.

=
X
X
X.

0
1
0.

S
EL

G
N
A

2/
1 D

N
A

S
N

OI
S
N
E

MI
D
T
E
R
P
R
ET

NI
E

M
S
A

R
E
P

S
E

C
N
A
R
EL

OT
4
9
9
1-

5.
4
1
Y

LI
A
R
D
R
A
U

G
M
A
E
B-

W
T
S
RIF

OT
)
4

M
ETI(

T
N

O
RF

,L
E
N
A
P

R
E
DIL

S
LL

AT
S
NI

.
1

.
E
DI
S

CIFF
A
RT

N
O

E
B

OT
ST

U
N

X
E
H
.
5
1

&
2
1

S
M
ETI

G
NI
S
U
L
E
N
A
P

LI
A
R
D
R
A
U

G
M
A
E
B-

W
D
N

O
C
E
S

OT
)
5

M
E TI(

T
E
K

C
A
R
B

R
E
DIL

S
LL

AT
S
NI

.
2

.
5
1

&
2
1

S
M
ETI

G
NI
S
U
L
E
N
A
P

LI
A
R
D
R
A
U

G
M
A
E
B-

W
D
N

O
C
E
S

D
N
A
T
S
RIF

E
R
U

C
E
S

2
&

1
S
P
ET

S
R
ETF

A
.
3

.
E
DI
S

CIFF
A
RT

N
O

E
B

OT
ST

U
N

X
E
H
.
5
1

&
2
1
,
6

S
M
ETI

G
NI
S
U

L
E
N
A
P

.L
E
N
A
P
LI

A
R
D
R
A
U

G
E

C
AF

OT
2

D
N
A

1
ST

S
O
P

N
O

ST
OL

S

ET
AL

P
LI

O
S

D
N
A
T
S

O
P

E
HT

,
D
E
R
ET

N
U

O
C
N
E

SI
LI

O
S
FFIT

S
R

O
K

C
O
R
FI

.
EL

O
H

E
HT

G
NILLIF

K
C
A
B

D
N
A

G
NI

R
E

G
U
A

Y
B

D
ELL

AT
S
NI

E
B

Y
A

M
L
A
R
ET

AL
R

O
T
N
E

M
ELTT

E
S
T
N
E
V
E
R
P

OT
N
E
K
AT

E
B
T
S
U

M
E
R
A

C
A
RT

X
E

E
B
LL

A
H
S
L
AI

R
ET

A
M
LLIF

K
C
A
B

.T
S

O
P

E
HT

F
O
T
N
E

M
E

C
AL

P
SI

D
.
N

OIT
C
A
P

M
O

C
M
U

MIT
P

O
OT

D
ET

C
A
P

M
O

C

FI
D
EIFI

D
O

M
E
B

Y
A

M
ET

AL
P
LI

O
S

E
HT

,
D
E
R
ET

N
U

O
C
N
E

SI
K

C
O
R
FI

.
R
E
E
NI

G
N
E
T

C
EJ

O
R
P

E
HT

Y
B

D
E
V

O
R
P
P
A

ABCD

ABCD

1
2

3
4

1
2

3
4

8
0
1
0
0
1
B
.
c
o
D

0
3:

1

Appendix A - System Configuration, 37’ 6”

, - . / 0 1 1 0 / , 2 - 3 0 - 4 0 1



� � � � � � � � � � � � 	 
 � � � � � 
 � � 
 
 � � � 
 � � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  � ! " # # $ % & & ' " % ( � � ) � ) � � ) * � � � � � + 5

1
4

"
8/

5
1

4
9
1

"
8/

5
7

1
TS

O
P

2
TS

O
P

3
T
S

O
P

.
E
NIL

NI
E
R
A

6
D
N
A

5
,
4
,
2
T
S

O
P

.
N

W
O
H
S

N
OI
S
N
E

MI
D

R
E
P

2
T
S

O
P

M
O
RF

1
T
S

O
P
T
E
SFF

O
.
N

W
O
H
S

N
OI
S
N
E

MI
D

R
E
P

2
T
S

O
P

M
O
RF

3
T
S

O
P
T
E
SFF

O
F

O
E

G
N
ALF

E
DI
ST

U
O

E
HT

OT
E
R
A

S
N

OI
S
N
E

MI
D
LL

A
.
ST

S
O
P

E
HT

A
LI

AT
E
D

0
2
:

1
EL

A
CS

M
A
E
RTS

P
U

E
S
U

OT
S
EL

O
H

E
R
U

C
ES

OT
T
U

O
K

C
OL

B
.
6,

5
,
4
T
S

O
P

C
LI

AT
E
D

0
2
:

1
EL

A
CS

M
A
E
RT

S
N

W
O
D

E
S
U

E
R
U

C
E
S

OT
T

OL
S

T
U

O
K

C
OL

B
2
TS

O
P

OT

B
LI

AT
E
D

0
2
:

1
EL

A
CS

M
A
E
RT

S
N

W
O
D

E
S
U

E
R
U

C
E
S

OT
T

OL
S

OT
T
U

O
K

C
OL

B
3
T
S

O
P

1
5
5

"
6
1/

1
1

1
2

'
C'
.

MI
D

T
S

O
P

T
H

GI
E
H

9
1
2
1
"
8
4

E
R
ALF

B
C

A

1

C L

1
TS

O
P

2
T
S

O
P

3
TS

O
P

4
TS

O
P

5
TS

O
P

6
TS

O
P

7
T
S

O
P

T
U

O
K

C
OL

B
D
N
A
T
S

O
P

.
S
R
E
HT

O
Y
B

D
E
DI

V
O
R
P

T
U

O
K

C
OL

B
D
N
A
T
S

O
P

OT
D
ET

C
E
N
N

O
C
T

O
N

L
E
N
A
P
LI

A
R
D
R
A
U

G
M
A
E
B-

W
T
U

O
K

C
OL

B
D
N
A
T
S

O
P

OT
D
ET

C
E
N
N

O
C
T

O
N

LI
A
R
D
R
A
U

G
M
A
E
B-

W
L
E
N
A
P

5
0
9
1
"
5
7

8
6
2

"
6
1/

9
0
1

0
5
8
1
1

"
2/

1
0
1-'

8
3

5
0
9
1
"
5
7

0
1
8
3

"
0
5
1

5
1
7
5

"
5
2
2

0
2
6
7

"
0
0
3

5
2
5
9

"
5
7
3

'
B'
.

MI
D

D
A
E
H

T
H

GI
E
H

'
A'
.

MI
D

LI
A
R

T
H

GI
E
H

D
R
A
D
N
ATS

NI
G
E
B

M
A
E
B-

W
Y
A

W
H

GI
H

.LI
A
R
D
R
A
U

G

D
N
U

O
R

G
E
NIL

T
U

O
K

C
OL

B
O
N

1
T
S

O
P

B
G

EL
A

CS

EZIS
.

O
N

G
W
D

T
E
E
H
S

.
V
E
R

S
USFL

X
2

F
O

2

.
1

ABCD

ABCD

1
2

3
4

1
2

3
4

8
0
1
0
0
1
B
.
c
o
D

0
5:

1

HT
O
B

H
G
U

O
R
HT

D
ETL

O
B

SI
TL

O
B
LI

A
R
D
R
A
U

G
E
R
U
S
N
E

.
7
T
S

O
P
T
A
T
S

O
P

D
N
A
T
U

O
K

C
OL

B
,
SL

E
N
A
P
LI

A
R
D
R
A
U

G

Appendix A - System Configuration, 37’ 6”

6 7 1 , / 8 9 : 1 0 ; 8 < 8 - < / 8 ; 3 , - 0 1



� � � � � � � � � � � � 	 
 � � � � � 
 � � 
 
 � � � 
 � � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  � ! " # # $ % & & ' " % ( � � ) � ) � � ) * � � � � �+ =

Appendix A -Bill of Materials - X-Lite Flared

No. Description Full System Kit Only

BSI-1310024-00 XLITE,CRIMPED POST SLOTS,GALV 1.00 1.00

BSI-1310027-00 XLITE,CRIMPED POST HOLES,GALV 4.00 4.00

BSI-1012086-00 POST II, X-LITE, GALV 1.00 1.00

BSI-1012103-00 IMPACT HEAD,X-LITE, GALV 1.00 1.00

BSI-1012093-00 SLIDER PANEL,FRONT,XLITE,GALV 1.00 1.00

BSI-1012090-00 Slider Bracket, X-Lite 1.00 1.00

BSI-1012096-00 BACK SLIDER PANEL,X-LITE,GALV 1.00 1.00

BSI-1012097-00 Ground Strut, X-Lite 2.00 2.00

BSI-1012098-00 Ground Strut Angle 1.00 1.00

BSI-1012104-00 Cable Anchor Assembly, X-Lite 1.00 1.00

K080123 Kit, X-Tension Shear Bolt, 1.00 1.00

BSI-1102027-00 WASHER,SQUARE,X-LITE,GALV 1.00 1.00

B090534 W-Beam Composite Blockout 8in, 5.00 -

4001115 Guardrail Bolt 5/8-11x 1 1/4 16.00 -

2000464 Bolt CH 5/8-11x1 1/2 Gr5 MGal 1.00 -

2000465 Bolt CH 5/8-11x9 Gr5 MGal 5.00 -

4001116 Guardrail Nut Recessed 5/8-11 26.00 -

2001580 Wshr 1 F436 Structural Gal 1.00 -

4000443 W-Beam Guardrail RWM02a 3.00 -

BSI-1312100-00 Soil Plate 1.00 1.00

2000220 C-Scr HH 5/8-11x3 1/2 Gr5 MGal 2.00 2.00

2001636 Wshr 5/8 F436 Struct MGal     4.00 4.00

2000312 Nut HX 5/8-11 Gr5 Mgal 2.00 2.00

BSI-1303005-00 Bracket, X-Lite, Cable Retenti 1.00 1.00

, - . / 0 1 1 0 / , 2 - 3 0 - 4 0 1


